Potencias de 10 (G)

4,087 = 10

1,579 =10

7,417+ 10

9,866+ 10

2,768 = 10

9,264 10

9,645 =10

0,812+ 10

9,176 = 10

2,512+ 10

Calcule los siguientes cocientes.

5,538+ 10

5,139 =10

6,259+ 10

6,748 =10

1,173+ 10

4,741 =10

0,944 - 10

8,488 = 10

0,239+ 10

0,312 =10
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Potencias de 10 (G) Respuestas

4,087 =10
0,4087
1,579+ 10
0,1579
7,417+ 10
0,7417
9,866 = 10
0,9866
2,768 + 10
0,2768
9,264+ 10
0,9264
9,645 10
0,9645
0,812 10
0,0812
9,176 + 10
0,9176
2,512 10
0,2512

Calcule los siguientes cocientes.

5,538 =10
0,5538
5,139+ 10
0,5139
6,259+ 10
0,6259
6,748 = 10
0,6748
1,173+ 10
0,1173
4,741 +10
0,4741
0,944 =+ 10
0,0944
8,488 = 10
0,8488
0,239+ 10
0,0239
0,312+ 10
0,0312
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